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Results for: Book1
 
Binary Logistic Regression: Pos surp versus Surp t-1, Surp LY 

Link Function: Logit


Response Information

Variable  Value  Count
Pos surp  1         20  (Event)
          0         20
          Total     40


Logistic Regression Table

                                               Odds     95% CI
Predictor       Coef   SE Coef      Z      P  Ratio  Lower  Upper
Constant   -0.619039  0.468807  -1.32  0.187
Surp t-1    0.773190  0.727533   1.06  0.288   2.17   0.52   9.02
Surp LY      1.63761   1.21499   1.35  0.178   5.14   0.48  55.64


Log-Likelihood = -24.792
Test that all slopes are zero: G = 5.867, DF = 2, P-Value = 0.053

* NOTE * No goodness of fit test performed.
* NOTE * The model uses all degrees of freedom.


Measures of Association:
(Between the Response Variable and Predicted Probabilities)

Pairs       Number  Percent  Summary Measures
Concordant     205     51.2  Somers' D              0.37
Discordant      56     14.0  Goodman-Kruskal Gamma  0.57
Ties           139     34.8  Kendall's Tau-a        0.19
Total          400    100.0

* NOTE * 2 time(s) the standardized Pearson residuals, delta chi-square, delta
         deviance, delta beta (standardized) and delta beta could not be
         computed because leverage (Hi) is equal to 1.

 
Binary Logistic Regression: Pos surp versus Surp LY 

Link Function: Logit


Response Information

Variable  Value  Count
Pos surp  1         20  (Event)
          0         20
          Total     40


Logistic Regression Table

                                               Odds     95% CI
Predictor       Coef   SE Coef      Z      P  Ratio  Lower  Upper
Constant   -0.305382  0.352222  -0.87  0.386
Surp LY      2.09714   1.13610   1.85  0.065   8.14   0.88  75.48


Log-Likelihood = -25.364
Test that all slopes are zero: G = 4.723, DF = 1, P-Value = 0.030

* NOTE * No goodness of fit test performed.

